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@ , %ﬁ Nhan véi Iy thtra cia muoi (sO bi thiéu)
0 %0

Tén:_ Ngaythang:_ Piém:__
10, 071 x = 10071 6, 984 X = 69.84
9,71 x =97.1 7,468 x = 7468
9, 897 x =989.7 3, 566 X = 35.66
7,162 x =171.62 6, 102 x = 6102
5, 856 x = 58.56 10, 172 x =1017.2
1,98 x =19.8 4, 846 X = 48.46
4,455 x = 44.55 5,179 x = 5179
2,165 x =21.65 4,075 x = 40.75
5,213 X = 5213 4,404 x = 4404
10, 889 x = 10889 4,271 x =427.1
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@ , % Nhan véi Iy thtra cia muoi (sO bi thiéu)
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Tén:__ Ngaythang: _ Piém:____
10,071 x 1000 = 10071 6,984 x 10 = 69.84
9,71 x 10 =97.1 7,468 x 1000 = 7468
9,897 x 100 = 989.7 3,566 x 10 = 35.66
7,162 x 10 =71.62 6, 102 x 1000 = 6102
5,856 x 10 = 58.56 10,172 x 100 = 1017.2
1,98 x 10 =19.8 4,846 x 10 = 48.46
4,455 x 10 = 44.55 5,179 x 1000 = 5179
2,165 x 10 = 21.65 4,075 x 10 = 40.75
5,213 x 1000 = 5213 4,404 x 1000 = 4404
10, 889 x 1000 = 10889 4,271 x 100 = 427.1
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